
JULIA 10-2020

1
3

1
3

JULIA
Instrukcja montażu
Assembling Instruction

Montageanleitung
ľinstruction de montage

1

G x1F x1 I x3 J x2

E x6

M. x6

D x2

x3

B x4

B x4

x2

x3

x1

C x1

H x1

L-4

L-5

A x4

WSI M6x25
no 141Ano 154Cno 153

US 5x35

US 5x35

1
4
5

1
4
5

1
4
5

A1

D1

B1 C1

M8x16

f30x2

f20x2

f45x3

SD M8x60 M8x408,5x22

strona/page/Seite 3-4

strona/page/Seite 5

H
-1

4
0 827

no 150A

K x16 L x4

WS M6x25 WS M6x35

strona/page/Seite 2

4 SEATER ROUND (TWO PARTS) 3XL SEATER ROUND (TWO PARTS) 4 ( )SEATER TWO PARTS



2

JULIA 10-2020

2

3

2x2x

1

I

H

F G

I J



4

3

JULIA 10-2020

5

A1A1

E

D 2x

A1

B1

B B1

E

1x



6

4

JULIA 10-2020

7

C1 C1

C1

B

C1

1x

2x

A
C

C1

E

E

E



8

M.

5
JULIA 10-2020

9

D1

D1

1x

D1
D1

M.

D1

2x

M.



10

6

JULIA 10-2020



11

7

JULIA 10-2020



12

13

8

JULIA 10-2020

Zachowaj instrukcję / Please keep instructions / Bewahren Sie die Anleitung / Merci de garder ľinstruction

SITS POLANDSp.z o.o. ,ul.Sikorskiego 60 ,  87-300 Brodnica ,


